

Generalized differential equations: differentiability of solutions with respect to initial conditions and parameters

Antonín Slavík

Charles University, Faculty of Mathematics and Physics,
Sokolovská 83, 186 75 Praha 8, Czech Republic
E-mail: slavik@karlin.mff.cuni.cz

Abstract

We show that under certain assumptions, solutions of generalized ordinary differential equations are differentiable with respect to initial conditions and parameters. This result unifies and extends several existing theorems for other types of equations, such as impulsive differential equations or dynamic equations on time scales.

Keywords: Generalized ordinary differential equations, differentiability of solutions, Kurzweil integral, differential equations with impulses, dynamic equations on time scales

1 Introduction

In the classical theory of ordinary differential equations, it is well known that under certain assumptions, solutions of the problem

$$\begin{aligned}x'(t) &= f(x(t), t), \quad t \in [a, b], \\x(t_0) &= x_0,\end{aligned}$$

are differentiable with respect to the initial condition; that is, if $x(t, x_0)$ denotes the value of the solution at $t \in [a, b]$, then the function $x_0 \mapsto x(t, x_0)$ is differentiable. The key requirement is that the right-hand side f should be differentiable with respect to x . Moreover, the derivative as a function of t is known to satisfy the so-called variational equation, which might be helpful in determining the value of the derivative.

Similarly, under suitable assumptions, solutions of a differential equation whose right-hand side depends on a parameter are differentiable with respect to that parameter.

These two types of theorems concerning differentiability of solutions with respect to initial conditions and parameters can be found in many differential equations textbooks, see e.g. [3]. Theorems of a similar type are also available for other types of equations, such as differential equations with impulses (see [6]) or dynamic equations on time scales (see [2]).

In 1957, Jaroslav Kurzweil introduced a class of integral equations called generalized ordinary differential equations (see [4]). His original motivation was to use them in the study of continuous dependence of solutions with respect to parameters. However, it became clear that generalized equations encompass various other types of equations, including equations with impulses (see [8]), dynamic equations on time scales (see [11]), or measure differential equations (see [8]).

The aim of this paper is to obtain differentiability theorems for generalized ordinary differential equations. Despite the fact that solutions of generalized equations need not be differentiable or even continuous with respect to t , we show that differentiability of the right-hand side with respect to x (and possibly with respect to parameters) still guarantees that the solutions are differentiable with respect to initial conditions (and parameters, respectively). Consequently, our result unifies and extends existing theorems for other types of equations.

2 The Kurzweil integral and generalized differential equations

We start this section by presenting a short overview of the Kurzweil integral, which is fundamental for the study of generalized ordinary differential equations. For more information on Kurzweil integration, see [5, 8].

A function $\delta : [a, b] \rightarrow \mathbb{R}^+$ is called a gauge on $[a, b]$. A tagged partition of the interval $[a, b]$ with division points $a = t_0 \leq t_1 \leq \dots \leq t_k = b$ and tags $\tau_i \in [t_{i-1}, t_i]$, $i \in \{1, \dots, k\}$, is called δ -fine if

$$[t_{i-1}, t_i] \subset (\tau_i - \delta(\tau_i), \tau_i + \delta(\tau_i)), \quad i \in \{1, \dots, k\}.$$

A matrix-valued function $U : [a, b] \times [a, b] \rightarrow \mathbb{R}^{n \times m}$ is called Kurzweil integrable on $[a, b]$, if there is a matrix $K \in \mathbb{R}^{n \times m}$ such that for every $\varepsilon > 0$, there is a gauge δ on $[a, b]$ such that

$$\left\| \sum_{i=1}^k (U(\tau_i, t_i) - U(\tau_i, t_{i-1})) - K \right\| < \varepsilon$$

for every δ -fine tagged partition of $[a, b]$. In this case, we define $\int_a^b D_t U(\tau, t) = K$.

Obviously, a matrix-valued function U is integrable if and only if all its components are integrable. Note also that we restrict ourselves to functions with values in finite-dimensional spaces; in this case, the Kurzweil integral coincides with the strong Kurzweil integral (see Chapter 19 in [5]).

An important special case is the Kurzweil-Stieltjes integral (also known as the Perron-Stieltjes, Henstock-Stieltjes or Henstock-Kurzweil-Stieltjes integral) of a function $f : [a, b] \rightarrow \mathbb{R}^n$ with respect to a function $g : [a, b] \rightarrow \mathbb{R}$, which corresponds to the choice $U(\tau, t) = f(\tau)g(t)$ and will be denoted by $\int_a^b f(t) dg(t)$.

We are now ready to introduce generalized ordinary differential equations. Consider a set $B \subset \mathbb{R}^n$, an interval $[a, b] \subset \mathbb{R}$ and a function $F : B \times [a, b]^2 \rightarrow \mathbb{R}^n$. A generalized ordinary differential equation with the right-hand side F has the form

$$\frac{d}{dt}x = D_t F(x, \tau, t), \quad (1)$$

which is a shorthand notation for the integral equation

$$x(s) = x(a) + \int_a^s D_t F(x(\tau), \tau, t), \quad s \in [a, b]. \quad (2)$$

In other words, a function $x : [a, b] \rightarrow B$ is a solution of (1) if and only if (2) is satisfied. We emphasize that (1) is a symbolic notation only and does not mean that x has to be differentiable.

Equations of the form (1) have been introduced by J. Kurzweil in [5]. In many situations, it is sufficient to consider the less general type of equation

$$\frac{d}{dt}x = D_t F(x, t), \quad (3)$$

where the right-hand side does not depend on τ (in fact, most existing sources devoted to generalized equations focus on this less general type; see e.g. the pioneering paper [4] by J. Kurzweil, or the monograph [8] by Š. Schwabik). The corresponding integral equation has the form

$$x(s) = x(a) + \int_a^s D_t F(x(\tau), t), \quad s \in [a, b].$$

Under certain conditions, an equation of the form (1) can be transformed to an equation of the form (3) (see Chapter 27 in [5]). However, as will be clear in Section 4, the more general type (1) is quite useful for our purposes.

The rest of this section summarizes some basic facts concerning the Kurzweil integral that will be needed later.

The following existence theorem can be found in [8, Corollary 1.34] or [5, Chapter 20].

Theorem 2.1. *If $f : [a, b] \rightarrow \mathbb{R}^n$ is a regulated function and $g : [a, b] \rightarrow \mathbb{R}$ is a nondecreasing function, then the integral $\int_a^b f(s) dg(s)$ exists.*

The next estimate follows directly from the definition of the Kurzweil integral.

Lemma 2.2. *Let $U : [a, b]^2 \rightarrow \mathbb{R}^{n \times n}$ be a Kurzweil integrable function. Assume there exists a pair of functions $f : [a, b] \rightarrow \mathbb{R}$ and $g : [a, b] \rightarrow \mathbb{R}$ such that f is regulated, g is nondecreasing, and*

$$\|U(\tau, t) - U(\tau, s)\| \leq f(\tau)|g(t) - g(s)|, \quad \tau, t, s \in [a, b].$$

Then

$$\left\| \int_a^b D_t U(\tau, t) \right\| \leq \int_a^b f(\tau) dg(\tau).$$

For the first part of the following statement, see [5, Corollary 14.18] or [8, Theorem 1.16]; the second part is a direct consequence of Lemma 2.2.

Theorem 2.3. *Assume that $U : [a, b]^2 \rightarrow \mathbb{R}^{n \times m}$ is Kurzweil integrable and $u : [a, b] \rightarrow \mathbb{R}^{n \times m}$ is its primitive, i.e.,*

$$u(s) = u(a) + \int_a^s D_t U(\tau, t), \quad s \in [a, b].$$

If U is regulated in the second variable, then u is regulated and satisfies

$$\begin{aligned} u(\tau+) &= u(\tau) + U(\tau, \tau+) - U(\tau, \tau), \quad \tau \in [a, b] \\ u(\tau-) &= u(\tau) + U(\tau, \tau-) - U(\tau, \tau), \quad \tau \in (a, b]. \end{aligned}$$

Moreover, if there exists a nondecreasing function $h : [a, b] \rightarrow \mathbb{R}$ such that

$$\|U(\tau, t) - U(\tau, s)\| \leq |h(t) - h(s)|, \quad \tau, t, s \in [a, b],$$

then

$$\|u(t) - u(s)\| \leq |h(t) - h(s)|, \quad t, s \in [a, b].$$

The following theorem represents an analogue of Gronwall's inequality for the Kurzweil-Stieltjes integral; the proof can be found in [8, Corollary 1.43].

Theorem 2.4. *Let $h : [a, b] \rightarrow [0, \infty)$ be a nondecreasing left-continuous function, $k > 0$, $l \geq 0$. Assume that $\psi : [a, b] \rightarrow [0, \infty)$ is bounded and satisfies*

$$\psi(\xi) \leq k + l \int_a^\xi \psi(\tau) dh(\tau), \quad \xi \in [a, b].$$

Then $\psi(\xi) \leq ke^{l(h(\xi) - h(a))}$ for every $\xi \in [a, b]$.

3 Linear equations

In this section, we consider the homogeneous linear generalized ordinary differential equation

$$\frac{d}{dt} z = D_t[A(\tau, t)z], \quad (4)$$

where $A : [a, b]^2 \rightarrow \mathbb{R}^{n \times n}$ is a given matrix-valued function and the solution z takes values in \mathbb{R}^n . The integral form of this equation is

$$z(s) = z(a) + \int_a^s D_t[A(\tau, t)z(\tau)], \quad s \in [a, b].$$

The case when A does not depend on τ has been studied in numerous works (see e.g. [8, 9]). However, to prove the main result of this paper, we need some basic facts concerning the more general type (4).

For convenience, let us introduce the following condition:

(A) There exists a nondecreasing function $h : [a, b] \rightarrow \mathbb{R}$ such that

$$\|A(\tau, t) - A(\tau, s)\| \leq |h(t) - h(s)|, \quad \tau, t, s \in [a, b].$$

Note that if (A) is satisfied, then for every fixed $\tau \in [a, b]$, the function $t \mapsto A(\tau, t)$ is regulated (this follows from the Cauchy condition for the existence of one-sided limits). Also, if h is left-continuous, then $t \mapsto A(\tau, t)$ is left-continuous as well.

Lemma 3.1. *Assume that $A : [a, b]^2 \rightarrow \mathbb{R}^{n \times n}$ satisfies (A). Let $y, z : [a, b] \rightarrow \mathbb{R}^n$ be a pair of functions such that*

$$z(s) = z(a) + \int_a^s D_t[A(\tau, t)y(\tau)], \quad s \in [a, b].$$

Then z is regulated on $[a, b]$.

Proof. Let $U(\tau, t) = A(\tau, t)y(\tau)$; note that

$$z(s) = z(a) + \int_a^s D_t U(\tau, t), \quad s \in [a, b].$$

By condition (A), U is regulated in the second variable. By Theorem 2.3, z is regulated. \square

A simple consequence of the previous lemma is that every solution of the linear generalized differential equation (4) is regulated.

Lemma 3.2. *Assume that $A : [a, b]^2 \rightarrow \mathbb{R}^{n \times n}$ satisfies (A) with a left-continuous function h . Then for every $z_0 \in \mathbb{R}^n$, the initial value problem*

$$\frac{d}{dt}z = D_t[A(\tau, t)z], \quad z(a) = z_0$$

has at most one solution.

Proof. Consider a pair of functions $z_1, z_2 : [a, b] \rightarrow \mathbb{R}^n$ such that

$$\frac{d}{dt}z_i = D_t[A(\tau, t)z_i], \quad \text{for } i \in \{1, 2\}.$$

Then

$$\begin{aligned} \|z_1(s) - z_2(s)\| &\leq \|z_1(a) - z_2(a)\| + \left\| \int_a^s D_t[A(\tau, t)(z_1(\tau) - z_2(\tau))] \right\| \\ &\leq \|z_1(a) - z_2(a)\| + \int_a^s \|z_1(\tau) - z_2(\tau)\| dh(\tau), \quad s \in [a, b] \end{aligned}$$

(the last inequality follows from Lemma 2.2). By Gronwall's inequality from Theorem 2.4, we obtain

$$\|z_1(s) - z_2(s)\| \leq \|z_1(a) - z_2(a)\| e^{h(b) - h(a)}, \quad s \in [a, b].$$

Thus, if $z_1(a) = z_2(a)$, then z_1, z_2 coincide on $[a, b]$. \square

The proof of the following lemma is almost identical to the proof of Theorem 3.14 in [8]; however, since our assumptions are different, we repeat the proof here for reader's convenience.

Lemma 3.3. *Let $z_k : [a, b] \rightarrow \mathbb{R}^n$, $k \in \mathbb{N}$, be a uniformly bounded sequence of functions, which is pointwise convergent to a function $z : [a, b] \rightarrow \mathbb{R}^n$. Assume that $A : [a, b]^2 \rightarrow \mathbb{R}^{n \times n}$ satisfies (A) and the integral $\int_a^b D_t[A(\tau, t)z_k(\tau)]$ exists for every $k \in \mathbb{N}$. Then $\int_a^b D_t[A(\tau, t)z(\tau)]$ exists as well and equals $\lim_{k \rightarrow \infty} \int_a^b D_t[A(\tau, t)z_k(\tau)]$.*

Proof. Let A^i denote the i -th row of A . Clearly, it is enough to prove that for every $i \in \{1, \dots, n\}$, the integral $\int_a^b D_t[A^i(\tau, t)z(\tau)]$ exists and equals $\lim_{k \rightarrow \infty} \int_a^b D_t[A^i(\tau, t)z_k(\tau)]$.

Let $i \in \{1, \dots, n\}$ be fixed, $U(\tau, t) = A^i(\tau, t)z(\tau)$ and $U_k(\tau, t) = A^i(\tau, t)z_k(\tau)$ for every $k \in \mathbb{N}$ (note that U and U_k are scalar functions). Consider an arbitrary fixed $\varepsilon > 0$. For every $\tau \in [a, b]$, there is a number $p(\tau) \in \mathbb{N}$ such that

$$\|z_k(\tau) - z(\tau)\| < \frac{\varepsilon}{h(b) - h(a) + 1}, \quad k \geq p(\tau).$$

Let $M > 0$ be such that $\|z_k(\tau)\| \leq M$ for every $k \in \mathbb{N}$, $\tau \in [a, b]$. The function

$$\mu(t) = \frac{\varepsilon h(t)}{h(b) - h(a) + 1}, \quad t \in [a, b],$$

is nondecreasing and $\mu(b) - \mu(a) < \varepsilon$. If $\tau, t_1, t_2 \in [a, b]$, $t_1 \leq t_2$, and $k \geq p(\tau)$, we have

$$\begin{aligned} |U_k(\tau, t_2) - U_k(\tau, t_1) - U(\tau, t_2) + U(\tau, t_1)| &\leq \|A^i(\tau, t_2) - A^i(\tau, t_1)\| \cdot \|z_k(\tau) - z(\tau)\| \\ &\leq \|A(\tau, t_2) - A(\tau, t_1)\| \cdot \|z_k(\tau) - z(\tau)\| \leq \frac{\varepsilon(h(t_2) - h(t_1))}{h(b) - h(a) + 1} = \mu(t_2) - \mu(t_1) \end{aligned}$$

and

$$M(-h(t_2) + h(t_1)) \leq U_k(\tau, t_2) - U_k(\tau, t_1) \leq M(h(t_2) - h(t_1)).$$

The conclusion now follows from the dominated convergence theorem for the Kurzweil integral ([8, Corollary 1.31]). \square

Lemma 3.4. *Assume that $A : [a, b]^2 \rightarrow \mathbb{R}^{n \times n}$ is Kurzweil integrable and satisfies (A). Then for every regulated function $y : [a, b] \rightarrow \mathbb{R}^n$, the integral $\int_a^b D_t[A(\tau, t)y(\tau)]$ exists.*

Proof. Every regulated function is a uniform limit of step functions. Thus, in view of Lemma 3.3, it is sufficient to prove that the statement is true for every step function $y : [a, b] \rightarrow \mathbb{R}^n$.

Let $a = t_0 < t_1 < \dots < t_k = b$ be a partition of $[a, b]$ such that y is constant on each interval (t_{i-1}, t_i) . For $t_{i-1} < u < \sigma < v < t_i$, the integrability of A implies that the integrals $\int_u^\sigma D_t[A(\tau, t)y(\tau)]$ and $\int_\sigma^v D_t[A(\tau, t)y(\tau)]$ exist and are regulated functions of u, v (this follows from (A) and Lemma 3.1). According to Hake's theorems for the Kurzweil integral (see Theorems 14.20 and 14.22 in [5], or Theorem 1.14 and Remark 1.15 in [8]), the integrals $\int_{t_{i-1}}^\sigma D_t[A(\tau, t)y(\tau)]$ and $\int_\sigma^{t_i} D_t[A(\tau, t)y(\tau)]$ exist as well. Thus, $\int_{t_{i-1}}^{t_i} D_t[A(\tau, t)y(\tau)]$ exists for every $i \in \{1, \dots, k\}$, which proves the statement. \square

Up to a small detail, the proof of the following theorem is the same as the proof of Theorem 23.4 in [5]. Therefore, we provide only a sketch of the proof and leave the details to the reader.

Theorem 3.5. *Assume that $A : [a, b]^2 \rightarrow \mathbb{R}^{n \times n}$ is Kurzweil integrable and satisfies (A) with a left-continuous function h . Then for every $z_0 \in \mathbb{R}^n$, the initial value problem*

$$\frac{d}{dt}z = D_t[A(\tau, t)z], \quad z(a) = z_0 \tag{5}$$

has a unique solution $z : [a, b] \rightarrow \mathbb{R}^n$.

Proof. Uniqueness of solutions follows immediately from Lemma 3.2. To prove the existence of a solution of (5) on $[a, b]$, choose a partition $a = s_0 < s_1 < \dots < s_k = b$ of $[a, b]$ such that $h(s_i) - h(s_{i-1}+) \leq \frac{1}{2}$ for every $i \in \{1, \dots, k\}$. Now, it is sufficient to prove that for every $w_0 \in \mathbb{R}^n$ and $i \in \{1, \dots, k\}$, the initial value problem

$$\frac{d}{dt}z = D_t[A(\tau, t)z], \quad z(s_{i-1}) = w_0$$

has a solution on $[s_{i-1}, s_i]$. This solution can be obtained by the method of successive approximations: Let

$$\begin{aligned} v_0(s) &= w_0, \quad s \in [s_{i-1}, s_i], \\ v_j(s) &= w_0 + \int_{s_{i-1}}^s D_t[A(\tau, t)v_{j-1}(\tau)], \quad s \in [s_{i-1}, s_i], \quad j \in \mathbb{N}. \end{aligned}$$

The existence of the integral on the right-hand side is guaranteed by Lemma 3.4 (this is the only difference against the proof of Theorem 23.4 in [5]). By Theorem 2.3, we have

$$v_j(s) = \widehat{w}_0 + \int_{s_{i-1}+}^s D_t[A(\tau, t)v_{j-1}(\tau)], \quad s \in [s_{i-1}, s_i], \quad j \in \mathbb{N},$$

where $\widehat{w}_0 = w_0 + A(s_{i-1}, s_{i-1}+)w_0 - A(s_{i-1}, s_{i-1})w_0$. Using Lemma 2.2, it is not difficult to see that

$$\|v_1(s) - v_0(s)\| \leq \|w_0\|(h(s_i) - h(s_{i-1})), \quad s \in [s_{i-1}, s_i],$$

$$\|v_{j+1}(s) - v_j(s)\| \leq \sup_{\tau \in [s_{i-1}, s_i]} \|v_j(\tau) - v_{j-1}(\tau)\|(h(s_i) - h(s_{i-1}+)), \quad s \in (s_{i-1}, s_i], \quad j \in \mathbb{N}.$$

Since $h(s_i) - h(s_{i-1}+) \leq \frac{1}{2}$, it follows by induction that

$$\|v_{j+1}(s) - v_j(s)\| \leq \|w_0\| \left(\frac{1}{2}\right)^j (h(s_i) - h(s_{i-1})), \quad s \in (s_{i-1}, s_i], \quad j \in \mathbb{N}.$$

This implies that $\{v_j\}_{j=1}^\infty$ is uniformly convergent to a function $v : [s_{i-1}, s_i] \rightarrow \mathbb{R}^n$, which satisfies

$$v(s) = \lim_{j \rightarrow \infty} v_j(s) = w_0 + \lim_{j \rightarrow \infty} \int_{s_{i-1}}^s D_t[A(\tau, t)v_{j-1}(\tau)] = w_0 + \int_{s_{i-1}}^s D_t[A(\tau, t)v(\tau)]$$

for every $s \in [s_{i-1}, s_i]$ (we have used Lemma 3.3). □

Throughout this section, we focused our attention on equations of the form

$$\frac{d}{dt}z = D_t[A(\tau, t)z], \quad z(a) = z_0,$$

where z takes values in \mathbb{R}^n . More generally, it is possible to consider equations where the unknown function has values in $\mathbb{R}^{n \times n}$. For example, if $Z_0 \in \mathbb{R}^{n \times n}$ is an arbitrary matrix, then

$$\frac{d}{dt}Z = D_t[A(\tau, t)Z], \quad Z(a) = Z_0$$

is a shorthand notation for the integral equation

$$Z(s) = Z_0 + \int_a^s D_t[A(\tau, t)Z(\tau)], \quad s \in [a, b]. \quad (6)$$

For an arbitrary matrix $X \in \mathbb{R}^{n \times n}$, let X^i be the i -th column of X . Then it is obvious that (6) holds if and only if

$$Z^i(s) = Z_0^i + \int_a^s D_t[A(\tau, t)Z^i(\tau)], \quad s \in [a, b], \quad i \in \{1, \dots, n\}.$$

We will encounter equations with matrix-valued solutions in the following section.

4 The main results

Consider a generalized ordinary differential equation of the form

$$\frac{d}{dt}x = D_t F(x, \tau, t), \quad x(a) = x^0(\lambda), \quad (7)$$

where the solution x takes values in \mathbb{R}^n , and $x^0 : \mathbb{R}^l \rightarrow \mathbb{R}^n$ is a function which describes the dependence of the initial condition on a parameter $\lambda \in \mathbb{R}^l$.

Let $x(s, \lambda)$ be the value of the solution at $s \in [a, b]$. Our goal is to show that under certain conditions, $x(s, \lambda)$ is differentiable with respect to λ . Using the definition of the Kurzweil integral, we see that the value of $x(s, \lambda)$ can be approximated by

$$x^0(\lambda) + \sum_{j=1}^k (F(x(\tau_j, \lambda), \tau_j, t_j) - F(x(\tau_j, \lambda), \tau_j, t_{j-1})),$$

where $a = t_0 < t_1 < \dots < t_k = s$ is a sufficiently fine partition of $[a, s]$ with tags $\tau_j \in [t_{j-1}, t_j]$, $j \in \{1, \dots, k\}$. Assuming that all expressions are differentiable with respect to λ at $\lambda_0 \in \mathbb{R}^l$, we see that the derivative $x_\lambda(s, \lambda_0)$, i.e., the matrix $\{\frac{\partial x_i}{\partial \lambda_j}(s, \lambda_0)\}_{i,j} \in \mathbb{R}^{n \times l}$, should be approximately equal to

$$x_\lambda^0(\lambda_0) + \sum_{j=1}^k (F_x(x(\tau_j, \lambda_0), \tau_j, t_j)x_\lambda(\tau_j, \lambda_0) - F_x(x(\tau_j, \lambda_0), \tau_j, t_{j-1})x_\lambda(\tau_j, \lambda_0)).$$

Now, the right-hand side is an approximation to

$$x_\lambda^0(\lambda_0) + \int_a^s D_t [F_x(x(\tau, \lambda_0), \tau, t)x_\lambda(\tau, \lambda_0)].$$

Thus, it seems reasonable to expect that the derivative $Z(t) = x_\lambda(t, \lambda_0)$, $t \in [a, b]$, is a solution of the linear equation

$$\frac{d}{dt}z = D_t G(z, \tau, t), \quad z(a) = x_\lambda^0(\lambda_0), \quad (8)$$

where $G(z, \tau, t) = F_x(x(\tau, \lambda_0), \tau, t)z$. This provides a motivation for the following theorem.

Note that even in the case when the right-hand side of Eq. (7) does not depend on τ and has the form $F(x, t)$, the right-hand side of Eq. (8) has the form $G(z, \tau, t) = F_x(x(\tau, \lambda_0), t)z$, i.e., still depends on τ . That is why we had to study the more general type of equations in the previous section.

The following proof is based on elementary estimates and Gronwall's inequality; it is inspired by a proof of Theorem 3.1 in the paper [2], which is concerned with dynamic equations on time scales.

Theorem 4.1. *Let $B \subset \mathbb{R}^n$ be an open set, $\lambda_0 \in \mathbb{R}^l$, $\rho > 0$, $\Lambda = \{\lambda \in \mathbb{R}^l; \|\lambda - \lambda_0\| < \rho\}$, $x^0 : \Lambda \rightarrow B$, $F : B \times [a, b]^2 \rightarrow \mathbb{R}^n$. Assume that F is regulated and left-continuous in the third variable, and that for every $\lambda \in \Lambda$, the initial value problem*

$$\frac{d}{dt}x = D_t F(x, \tau, t), \quad x(a) = x^0(\lambda) \quad (9)$$

has a solution defined on $[a, b]$; let $x(t, \lambda)$ be the value of that solution at $t \in [a, b]$. Moreover, let the following conditions be satisfied:

1. *For every fixed pair $(t, \tau) \in [a, b]^2$, the function $x \mapsto F(x, \tau, t)$ is continuously differentiable on B .*
2. *The function x^0 is differentiable at λ_0 .*
3. *There exists a left-continuous nondecreasing function $h : [a, b] \rightarrow \mathbb{R}$ such that*

$$\|F_x(x, \tau, t) - F_x(x, \tau, s)\| \leq |h(t) - h(s)|, \quad s, t, \tau \in [a, b], \quad x \in B.$$

4. There exists a continuous increasing function $\omega : [0, \infty) \rightarrow [0, \infty)$ such that $\omega(0) = 0$ and

$$\|F_x(x, \tau, t) - F_x(x, \tau, s) - F_x(y, \tau, t) + F_x(y, \tau, s)\| \leq \omega(\|x - y\|) \cdot |h(t) - h(s)|, \quad s, t, \tau \in [a, b], \quad x, y \in B.$$

5. There exists a left-continuous nondecreasing function $k : [a, b] \rightarrow \mathbb{R}$ such that

$$\|F(x, \tau, t) - F(x, \tau, s) - F(y, \tau, t) + F(y, \tau, s)\| \leq \|x - y\| \cdot |k(t) - k(s)|, \quad s, t, \tau \in [a, b], \quad x, y \in B.$$

6. There exists a number $\eta > 0$ such that if $x \in \mathbb{R}^n$ satisfies $\|x - x(t, \lambda_0)\| < \eta$ for some $t \in [a, b]$, then $x \in B$ (i.e., the η -neighborhood of the solution $t \mapsto x(t, \lambda_0)$ is contained in B).

Then the function $\lambda \mapsto x(t, \lambda)$ is differentiable at λ_0 , uniformly for all $t \in [a, b]$. Moreover, its derivative $Z(t) = x_\lambda(t, \lambda_0)$, $t \in [a, b]$, is the unique solution of the generalized differential equation

$$Z(s) = x_\lambda^0(\lambda_0) + \int_a^s D_t[F_x(x(\tau, \lambda_0), \tau, t)Z(\tau)], \quad s \in [a, b]. \quad (10)$$

Proof. According to the assumptions, we have

$$x(s, \lambda) = x^0(\lambda) + \int_a^s D_t F(x(\tau, \lambda), \tau, t), \quad \lambda \in \Lambda, \quad s \in [a, b].$$

By Theorem 2.3, every solution x is a regulated and left-continuous function on $[a, b]$. If $\Delta\lambda \in \mathbb{R}^l$ is such that $\|\Delta\lambda\| < \rho$, then

$$\|x(s, \lambda_0 + \Delta\lambda) - x(s, \lambda_0)\| \leq \|x^0(\lambda_0 + \Delta\lambda) - x^0(\lambda_0)\| + \left\| \int_a^s D_t V(\tau, t) \right\|,$$

where $V(\tau, t) = F(x(\tau, \lambda_0 + \Delta\lambda), \tau, t) - F(x(\tau, \lambda_0), \tau, t)$. By assumption 5, we obtain

$$\|V(\tau, t_1) - V(\tau, t_2)\| \leq \|x(\tau, \lambda_0 + \Delta\lambda) - x(\tau, \lambda_0)\| \cdot |k(t_1) - k(t_2)|,$$

and consequently (using Lemma 2.2)

$$\|x(s, \lambda_0 + \Delta\lambda) - x(s, \lambda_0)\| \leq \|x^0(\lambda_0 + \Delta\lambda) - x^0(\lambda_0)\| + \int_a^s \|x(\tau, \lambda_0 + \Delta\lambda) - x(\tau, \lambda_0)\| dk(\tau).$$

for every $s \in [a, b]$. Gronwall's inequality from Theorem 2.4 implies

$$\|x(s, \lambda_0 + \Delta\lambda) - x(s, \lambda_0)\| \leq \|x^0(\lambda_0 + \Delta\lambda) - x^0(\lambda_0)\| e^{k(b) - k(a)}, \quad s \in [a, b].$$

Thus we see that for $\Delta\lambda \rightarrow 0$, $x(s, \lambda_0 + \Delta\lambda)$ approaches $x(s, \lambda_0)$ uniformly for all $s \in [a, b]$.

By assumption 3, the function $A(\tau, t) = F_x(x(\tau, \lambda_0), \tau, t)$ satisfies condition (A). By Theorem 3.5, Eq. (10) has a unique solution $Z : [a, b] \rightarrow \mathbb{R}^{n \times n}$. By Lemma 3.1, the solution is regulated. Consequently, there exists a constant $M > 0$ such that $\|Z(t)\| \leq M$ for every $t \in [a, b]$.

For every $\Delta\lambda \in \mathbb{R}^l$ such that $\|\Delta\lambda\| < \rho$, let

$$\xi(r, \Delta\lambda) = \frac{x(r, \lambda_0 + \Delta\lambda) - x(r, \lambda_0) - Z(r)\Delta\lambda}{\|\Delta\lambda\|}, \quad r \in [a, b].$$

Our goal is to prove that if $\Delta\lambda \rightarrow 0$, then $\xi(r, \Delta\lambda) \rightarrow 0$ uniformly for $r \in [a, b]$.

Let $\varepsilon > 0$ be given. There exists a $\delta > 0$ such that if $\Delta\lambda \in \mathbb{R}^l$ and $\|\Delta\lambda\| < \delta$, then

$$\|x(t, \lambda_0 + \Delta\lambda) - x(t, \lambda_0)\| < \min(\varepsilon, \eta), \quad t \in [a, b],$$

and

$$\frac{\|x^0(\lambda_0 + \Delta\lambda) - x^0(\lambda_0) - x_\lambda^0(\lambda_0)\Delta\lambda\|}{\|\Delta\lambda\|} < \varepsilon.$$

Observe that

$$\begin{aligned}\xi(a, \Delta\lambda) &= \frac{x^0(\lambda_0 + \Delta\lambda) - x^0(\lambda_0) - x_\lambda^0(\lambda_0)\Delta\lambda}{\|\Delta\lambda\|}, \\ \xi(r, \Delta\lambda) - \xi(a, \Delta\lambda) &= \frac{x(r, \lambda_0 + \Delta\lambda) - x(a, \lambda_0 + \Delta\lambda)}{\|\Delta\lambda\|} - \frac{x(r, \lambda_0) - x(a, \lambda_0)}{\|\Delta\lambda\|} - \frac{(Z(r) - Z(a))\Delta\lambda}{\|\Delta\lambda\|} \\ &= \int_a^r D_t U(\tau, t),\end{aligned}$$

where

$$U(\tau, t) = \frac{F(x(\tau, \lambda_0 + \Delta\lambda), \tau, t) - F(x(\tau, \lambda_0), \tau, t) - F_x(x(\tau, \lambda_0), \tau, t)Z(\tau)\Delta\lambda)}{\|\Delta\lambda\|}.$$

For every $\tau \in [a, b]$ and $u \in [0, 1]$, we have

$$\|ux(\tau, \lambda_0 + \Delta\lambda) + (1-u)x(\tau, \lambda_0) - x(\tau, \lambda_0)\| \leq \|x(\tau, \lambda_0 + \Delta\lambda) - x(\tau, \lambda_0)\| < \eta.$$

By assumption 6, the point $ux(\tau, \lambda_0 + \Delta\lambda) + (1-u)x(\tau, \lambda_0)$ is an element of B . In other words, the segment connecting $x(\tau, \lambda_0 + \Delta\lambda)$ and $x(\tau, \lambda_0)$ is contained in B . Thus we can use the mean-value theorem for vector-valued functions (see e.g. [3, Lemma 8.11]) to examine the following difference:

$$\begin{aligned}U(\tau, t) - U(\tau, s) &= \frac{F(x(\tau, \lambda_0 + \Delta\lambda), \tau, t) - F(x(\tau, \lambda_0), \tau, t) - F(x(\tau, \lambda_0 + \Delta\lambda), \tau, s) + F(x(\tau, \lambda_0), \tau, s))}{\|\Delta\lambda\|} \\ &\quad - \frac{(F_x(x(\tau, \lambda_0), \tau, t) - F_x(x(\tau, \lambda_0), \tau, s))(x(\tau, \lambda_0 + \Delta\lambda) - x(\tau, \lambda_0))}{\|\Delta\lambda\|} \\ &\quad + \frac{(F_x(x(\tau, \lambda_0), \tau, t) - F_x(x(\tau, \lambda_0), \tau, s))(x(\tau, \lambda_0 + \Delta\lambda) - x(\tau, \lambda_0) - Z(\tau)\Delta\lambda)}{\|\Delta\lambda\|} \\ &= \frac{1}{\|\Delta\lambda\|} \left(\int_0^1 (F_x(ux(\tau, \lambda_0 + \Delta\lambda) + (1-u)x(\tau, \lambda_0), \tau, t) - F_x(ux(\tau, \lambda_0 + \Delta\lambda) + (1-u)x(\tau, \lambda_0), \tau, s)) du \right. \\ &\quad \left. - \int_0^1 (F_x(x(\tau, \lambda_0), \tau, t) - F_x(x(\tau, \lambda_0), \tau, s)) du \right) \cdot (x(\tau, \lambda_0 + \Delta\lambda) - x(\tau, \lambda_0)) \\ &\quad + (F_x(x(\tau, \lambda_0), \tau, t) - F_x(x(\tau, \lambda_0), \tau, s))\xi(\tau, \Delta\lambda)\end{aligned}$$

(In the second integral above, we are simply integrating a constant function.) If $\|\Delta\lambda\| < \delta$, then (by assumption 4)

$$\begin{aligned}\|F_x(ux(\tau, \lambda_0 + \Delta\lambda) + (1-u)x(\tau, \lambda_0), \tau, t) - F_x(ux(\tau, \lambda_0 + \Delta\lambda) + (1-u)x(\tau, \lambda_0), \tau, s) - F_x(x(\tau, \lambda_0), \tau, t) \\ + F_x(x(\tau, \lambda_0), \tau, s)\| \leq \omega(\|ux(\tau, \lambda_0 + \Delta\lambda) + (1-u)x(\tau, \lambda_0) - x(\tau, \lambda_0)\|)|h(t) - h(s)| \\ = \omega(\|u(x(\tau, \lambda_0 + \Delta\lambda) - x(\tau, \lambda_0))\|)|h(t) - h(s)| \leq \omega(\varepsilon)|h(t) - h(s)|,\end{aligned}$$

and thus (using assumption 3)

$$\begin{aligned}\|U(\tau, t) - U(\tau, s)\| &\leq \omega(\varepsilon)|h(t) - h(s)| \frac{\|x(\tau, \lambda_0 + \Delta\lambda) - x(\tau, \lambda_0)\|}{\|\Delta\lambda\|} + |h(t) - h(s)| \cdot \|\xi(\tau, \Delta\lambda)\| \\ &\leq |h(t) - h(s)| \left(\omega(\varepsilon) \frac{\|x(\tau, \lambda_0 + \Delta\lambda) - x(\tau, \lambda_0) - Z(\tau)\Delta\lambda\| + \|Z(\tau)\Delta\lambda\|}{\|\Delta\lambda\|} + \|\xi(\tau, \Delta\lambda)\| \right) \\ &\leq |h(t) - h(s)| (\omega(\varepsilon)(\|\xi(\tau, \Delta\lambda)\| + M) + \|\xi(\tau, \Delta\lambda)\|).\end{aligned}$$

Consequently, by Lemma 2.2,

$$\|\xi(r, \Delta\lambda) - \xi(a, \Delta\lambda)\| = \left\| \int_a^r D_t U(\tau, t) \right\| \leq \int_a^r (\omega(\varepsilon)(\|\xi(\tau, \Delta\lambda)\| + M) + \|\xi(\tau, \Delta\lambda)\|) dh(\tau)$$

$$\begin{aligned}
&= \omega(\varepsilon)M(h(r) - h(a)) + (1 + \omega(\varepsilon)) \int_a^r \|\xi(\tau, \Delta\lambda)\| dh(\tau) \\
&\leq \omega(\varepsilon)M(h(b) - h(a)) + (1 + \omega(\varepsilon)) \int_a^r \|\xi(\tau, \Delta\lambda)\| dh(\tau).
\end{aligned}$$

It follows that

$$\begin{aligned}
&\|\xi(r, \Delta\lambda)\| \leq \|\xi(r, \Delta\lambda) - \xi(a, \Delta\lambda)\| + \|\xi(a, \Delta\lambda)\| \\
&\leq \varepsilon + \omega(\varepsilon)M(h(b) - h(a)) + (1 + \omega(\varepsilon)) \int_a^r \|\xi(\tau, \Delta\lambda)\| dh(\tau).
\end{aligned}$$

Finally, Gronwall's inequality leads to the estimate

$$\begin{aligned}
\|\xi(r, \Delta\lambda)\| &\leq (\varepsilon + \omega(\varepsilon)M(h(b) - h(a)))e^{(1+\omega(\varepsilon))(h(r)-h(a))} \\
&\leq (\varepsilon + \omega(\varepsilon)M(h(b) - h(a)))e^{(1+\omega(\varepsilon))(h(b)-h(a))}.
\end{aligned}$$

Since $\lim_{\varepsilon \rightarrow 0^+} \omega(\varepsilon) = 0$, we see that if $\Delta\lambda \rightarrow 0$, then $\xi(r, \Delta\lambda) \rightarrow 0$ uniformly for $r \in [a, b]$. \square

In the simplest case when $l = n$, $\Lambda \subset B$ and $x^0(\lambda) = \lambda$ for every $\lambda \in \Lambda$, the previous theorem says that solutions of

$$\frac{d}{dt}x = D_t F(x, \tau, t), \quad x(a) = \lambda$$

are differentiable with respect to λ , and the derivative $Z(t) = x_\lambda(t, \lambda_0)$, $t \in [a, b]$, is the unique solution of the generalized differential equation

$$Z(s) = I + \int_a^s D_t [F_x(x(\tau, \lambda_0), \tau, t)Z(\tau)], \quad s \in [a, b].$$

Remark 4.2. In Theorem 4.1, we are assuming the existence of a $\rho > 0$ such that for every $\lambda \in \mathbb{R}^l$ satisfying $\|\lambda - \lambda_0\| < \rho$, the initial value problem (9) has a solution $t \mapsto x(t, \lambda)$ defined on $[a, b]$ and taking values in B . For equations whose right-hand side F does not depend on τ , this assumption can be replaced by the following simple condition:

$$\|F(x, t) - F(x, s)\| \leq |k(t) - k(s)|, \quad s, t \in [a, b], \quad x \in B. \quad (11)$$

Let us explain why this condition is sufficient. (We are still assuming that conditions 1–6 from Theorem 4.1 are satisfied. In particular, we are assuming that the initial value problem (9) has a solution corresponding to $\lambda = \lambda_0$.) Observe that if $c \in [a, b]$ and $\|y - x(c+, \lambda_0)\| < \eta/2$, then $y \in B$. (Choose $\delta > 0$ such that $\|x(c+, \lambda_0) - x(c + \delta, \lambda_0)\| < \eta/2$; then $\|y - x(c + \delta, \lambda_0)\| \leq \|y - x(c+, \lambda_0)\| + \|x(c+, \lambda_0) - x(c + \delta, \lambda_0)\| < \eta$, and thus $y \in B$ by assumption 6.)

Following the first part of proof of Theorem 4.1, we observe that there is a $\delta > 0$ such that if $\|\lambda - \lambda_0\| < \delta$ and if the solution $t \mapsto x(t, \lambda)$ exists on $[a, c] \subseteq [a, b]$, then

$$\|x(t, \lambda) - x(t, \lambda_0)\| < \frac{\eta}{4} \cdot \min\left(1, \frac{1}{k(b) - k(a) + 1}\right), \quad t \in [a, c].$$

If $\lambda \in \mathbb{R}^l$ satisfies $\|\lambda - \lambda_0\| < \delta$ and the solution $t \mapsto x(t, \lambda)$ exists on $[a, c] \subseteq [a, b]$ with $c \in [a, b)$, then

$$\begin{aligned}
&\|(x(c, \lambda) + F(x(c, \lambda), c+) - F(x(c, \lambda), c)) - (x(c, \lambda_0) + F(x(c, \lambda_0), c+) - F(x(c, \lambda_0), c))\| \\
&\leq \|x(c, \lambda) - x(c, \lambda_0)\| + \|F(x(c, \lambda), c+) - F(x(c, \lambda), c) - F(x(c, \lambda_0), c+) + F(x(c, \lambda_0), c)\| \\
&< \eta/4 + \|x(c, \lambda) - x(c, \lambda_0)\|(k(c+) - k(c)) < \eta/4 + \|x(c, \lambda) - x(c, \lambda_0)\|(k(b) - k(a)) < \eta/2
\end{aligned}$$

(we have used assumption 5). By Theorem 2.3, $x(c+, \lambda_0) = x(c, \lambda_0) + F(x(c, \lambda_0), c+) - F(x(c, \lambda_0), c)$. Thus the previous inequality and assumption 6 imply $x(c, \lambda) + F(x(c, \lambda), c+) - F(x(c, \lambda), c) \in B$.

All assumptions of the local existence theorem for generalized differential equations (see [8, Theorem 4.2]) are satisfied (we need (11) at this moment), and thus the solution $t \mapsto x(t, \lambda)$ can be extended to a larger interval $[a, d]$, $d \in (c, b]$. Consequently, for $\|\lambda - \lambda_0\| < \delta$, the solution must exist on the whole interval $[a, b]$.

Remark 4.3. Assume that the set B from Theorem 4.1 is convex. Then it is easy to see that assumption 5 in this theorem is redundant. Indeed, the mean-value theorem for vector-valued functions and assumption 3 lead to the estimate

$$\begin{aligned} & \|F(x, \tau, t) - F(x, \tau, s) - F(y, \tau, t) + F(y, \tau, s)\| \\ & \leq \left(\int_0^1 \|F_x(ux + (1-u)y, \tau, t) - F_x(ux + (1-u)y, \tau, s)\| du \right) \cdot \|x - y\| \leq |h(t) - h(s)| \cdot \|x - y\| \end{aligned}$$

for all $s, t, \tau \in [a, b]$, $x, y \in B$, i.e., assumption 5 is satisfied with $k = h$.

With the help of Theorem 4.1, it is easy to obtain an even more general theorem for equations where not only the initial condition, but also the right-hand side of the equation depends on the parameter λ . The proof is inspired by a similar proof of Theorem 8.49 in [3].

Theorem 4.4. Let $B \subset \mathbb{R}^n$ be an open set, $\lambda_0 \in \mathbb{R}^l$, $\rho > 0$, $\Lambda = \{\lambda \in \mathbb{R}^l; \|\lambda - \lambda_0\| < \rho\}$, $x^0 : \Lambda \rightarrow B$, $F : B \times [a, b]^2 \times \Lambda \rightarrow \mathbb{R}^n$. Assume that F is regulated and left-continuous in the third variable, and that for every $\lambda \in \Lambda$, the initial value problem

$$\frac{d}{dt}x = D_t F(x, \tau, t, \lambda), \quad x(a) = x^0(\lambda)$$

has a solution in B ; let $x(t, \lambda)$ be the value of that solution at $t \in [a, b]$. Moreover, let the following conditions be satisfied:

1. For every fixed pair $(t, \tau) \in [a, b]^2$, the function $(x, \lambda) \mapsto F(x, \tau, t, \lambda)$ is continuously differentiable on $B \times \Lambda$.
2. The function x^0 is differentiable at λ_0 .
3. There exists a left-continuous nondecreasing function $h : [a, b] \rightarrow \mathbb{R}$ such that

$$\begin{aligned} \|F_x(x, \tau, t, \lambda) - F_x(x, \tau, s, \lambda)\| & \leq |h(t) - h(s)|, \\ \|F_\lambda(x, \tau, t, \lambda) - F_\lambda(x, \tau, s, \lambda)\| & \leq |h(t) - h(s)| \end{aligned}$$

for all $s, t, \tau \in [a, b]$, $x \in B$, $\lambda \in \Lambda$.

4. There exists a continuous increasing function $\omega : [0, \infty) \rightarrow [0, \infty)$ such that $\omega(0) = 0$ and

$$\begin{aligned} \|F_x(x, \tau, t, \lambda_1) - F_x(x, \tau, s, \lambda_1) - F_x(y, \tau, t, \lambda_2) + F_x(y, \tau, s, \lambda_2)\| & \leq \omega(\|x - y\| + \|\lambda_1 - \lambda_2\|) \cdot |h(t) - h(s)|, \\ \|F_\lambda(x, \tau, t, \lambda_1) - F_\lambda(x, \tau, s, \lambda_1) - F_\lambda(y, \tau, t, \lambda_2) + F_\lambda(y, \tau, s, \lambda_2)\| & \leq \omega(\|x - y\| + \|\lambda_1 - \lambda_2\|) \cdot |h(t) - h(s)| \end{aligned}$$

for all $s, t, \tau \in [a, b]$, $x, y \in B$, $\lambda_1, \lambda_2 \in \Lambda$.

5. There exists a left-continuous nondecreasing function $k : [a, b] \rightarrow \mathbb{R}$ such that

$$\|F(x, \tau, t, \lambda_1) - F(x, \tau, s, \lambda_1) - F(y, \tau, t, \lambda_2) + F(y, \tau, s, \lambda_2)\| \leq (\|x - y\| + \|\lambda_1 - \lambda_2\|) \cdot |k(t) - k(s)|$$

for all $s, t, \tau \in [a, b]$, $x, y \in B$, $\lambda_1, \lambda_2 \in \Lambda$.

6. There exists a number $\eta > 0$ such that if $x \in \mathbb{R}^n$ satisfies $\|x - x(t, \lambda_0)\| < \eta$ for some $t \in [a, b]$, then $x \in B$ (i.e., the η -neighborhood of the solution $t \mapsto x(t, \lambda_0)$ is contained in B).

Then the function $\lambda \mapsto x(t, \lambda)$ is differentiable at λ_0 , uniformly for all $t \in [a, b]$. Moreover, its derivative $Z(t) = x_\lambda(t, \lambda_0)$, $t \in [a, b]$, is the unique solution of the generalized differential equation

$$Z(s) = x_\lambda^0(\lambda_0) + \int_a^s D_t [F_x(x(\tau, \lambda_0), \tau, t, \lambda_0)Z(\tau) + F_\lambda(x(\tau, \lambda_0), \tau, t, \lambda_0)], \quad s \in [a, b].$$

Proof. Let $\tilde{B} = B \times \Lambda$. Without loss of generality, assume that all finite-dimensional spaces we are working with are equipped with the L_1 norm. In particular, when $(x, \lambda) \in \tilde{B}$, then

$$\|(x, \lambda)\| = \sum_{i=1}^n |x_i| + \sum_{j=1}^l |\lambda_j| = \|x\| + \|\lambda\|.$$

Define $\tilde{F} : \tilde{B} \times [a, b]^2 \rightarrow \mathbb{R}^{n+l}$ by

$$\tilde{F}((x, \lambda), \tau, t) = (F(x, \tau, t, \lambda), 0, \dots, 0) \in \mathbb{R}^{n+l}, \quad x \in B, \quad \lambda \in \Lambda, \quad t, \tau \in [a, b],$$

and $y^0 : \Lambda \rightarrow \tilde{B}$ by

$$y^0(\lambda) = (x^0(\lambda), \lambda), \quad \lambda \in \Lambda.$$

From these definitions, it is clear that for every $\lambda \in \Lambda$, the function

$$y(t, \lambda) = (x(t, \lambda), \lambda), \quad t \in [a, b],$$

is a solution of the initial value problem

$$\frac{d}{dt}y = D_t \tilde{F}(y, \tau, t), \quad y(a) = y^0(\lambda)$$

(note that by the definition of \tilde{F} , the last l components of every solution are constant on $[a, b]$).

Without loss of generality, assume that $\eta < \rho$. If $(x, \lambda) \in \tilde{B}$ is such that $\|(x, \lambda) - (x(t, \lambda_0), \lambda_0)\| < \eta$ for some $t \in [a, b]$, then $\|x - x(t, \lambda_0)\| < \eta$ and $\|\lambda - \lambda_0\| < \eta$, i.e., $x \in B$ and $\lambda \in \Lambda$. In other words, the η -neighborhood of the solution $t \mapsto y(t, \lambda_0)$ is contained in \tilde{B} .

The derivative of \tilde{F} with respect to y is the $(n+l) \times (n+l)$ matrix

$$\begin{aligned} \tilde{F}_y(y, \tau, t) &= \begin{pmatrix} \frac{\partial \tilde{F}_1}{\partial y_1}(y, \tau, t) & \cdots & \frac{\partial \tilde{F}_1}{\partial y_{n+l}}(y, \tau, t) \\ \vdots & \ddots & \vdots \\ \frac{\partial \tilde{F}_{n+l}}{\partial y_1}(y, \tau, t) & \cdots & \frac{\partial \tilde{F}_{n+l}}{\partial y_{n+l}}(y, \tau, t) \end{pmatrix} \\ &= \begin{pmatrix} \frac{\partial F_1}{\partial x_1}(x, \tau, t, \lambda) & \cdots & \frac{\partial F_1}{\partial x_n}(x, \tau, t, \lambda) & \frac{\partial F_1}{\partial \lambda_1}(x, \tau, t, \lambda) & \cdots & \frac{\partial F_1}{\partial \lambda_l}(x, \tau, t, \lambda) \\ \vdots & \ddots & \vdots & \vdots & \ddots & \vdots \\ \frac{\partial F_n}{\partial x_1}(x, \tau, t, \lambda) & \cdots & \frac{\partial F_n}{\partial x_n}(x, \tau, t, \lambda) & \frac{\partial F_n}{\partial \lambda_1}(x, \tau, t, \lambda) & \cdots & \frac{\partial F_n}{\partial \lambda_l}(x, \tau, t, \lambda) \\ 0 & \cdots & 0 & 0 & \cdots & 0 \\ \vdots & \ddots & \vdots & \vdots & \ddots & \vdots \\ 0 & \cdots & 0 & 0 & \cdots & 0 \end{pmatrix}, \end{aligned}$$

where $y = (x, \lambda) \in B \times \Lambda$ and $t, \tau \in [a, b]$.

Similarly, the derivative of y^0 with respect to λ at λ_0 is the $(n+l) \times l$ matrix

$$y_{\lambda}^0(\lambda_0) = \begin{pmatrix} \frac{\partial x_1^0}{\partial \lambda_1}(\lambda_0) & \cdots & \frac{\partial x_1^0}{\partial \lambda_l}(\lambda_0) \\ \vdots & \ddots & \vdots \\ \frac{\partial x_n^0}{\partial \lambda_1}(\lambda_0) & \cdots & \frac{\partial x_n^0}{\partial \lambda_l}(\lambda_0) \\ 1 & \cdots & 0 \\ \vdots & \ddots & \vdots \\ 0 & \cdots & 1 \end{pmatrix}.$$

Using assumptions 3, 4 and 5, it is not difficult to see that \tilde{F} and \tilde{F}_y satisfy assumptions 3, 4 and 5 of Theorem 4.1. For example, let $s, t, \tau \in [a, b]$, $y_1, y_2 \in \tilde{B}$, where $y_1 = (x_1, \lambda_1)$ and $y_2 = (x_2, \lambda_2)$. Then

$$\|\tilde{F}_y(y_1, \tau, t) - \tilde{F}_y(y_1, \tau, s) - \tilde{F}_y(y_2, \tau, t) + \tilde{F}_y(y_2, \tau, s)\|$$

$$\begin{aligned}
&= \|F_x(x_1, \tau, t, \lambda_1) - F_x(x_1, \tau, s, \lambda_1) - F_x(x_2, \tau, t, \lambda_2) + F_x(x_2, \tau, s, \lambda_2)\| \\
&\quad + \|F_\lambda(x_1, \tau, t, \lambda_1) - F_\lambda(x_1, \tau, s, \lambda_1) - F_\lambda(x_2, \tau, t, \lambda_2) + F_\lambda(x_2, \tau, s, \lambda_2)\| \\
&\leq 2\omega(\|x_1 - x_2\| + \|\lambda_1 - \lambda_2\|) \cdot |h(t) - h(s)| = \omega(\|y_1 - y_2\|) \cdot |2h(t) - 2h(s)|,
\end{aligned}$$

which verifies assumption 4 of Theorem 4.1.

Now, according to Theorem 4.1, the function $\lambda \mapsto y(t, \lambda)$ is differentiable at λ_0 , uniformly for all $t \in [a, b]$, and its derivative $\tilde{Z}(t) = y_\lambda(t, \lambda_0)$, $t \in [a, b]$, is the unique solution of the generalized differential equation

$$\tilde{Z}(s) = y_\lambda^0(\lambda_0) + \int_a^s D_t[\tilde{F}_y(y(\tau, \lambda_0), \tau, t)\tilde{Z}(\tau)], \quad s \in [a, b].$$

Let $Z(t) = x_\lambda(t, \lambda_0)$, $t \in [a, b]$; observe that Z is the submatrix of \tilde{Z} corresponding to the first n rows. Also, note that the last l rows of \tilde{Z} form the identity matrix. Thus it follows that

$$Z(s) = x_\lambda^0(\lambda_0) + \int_a^s D_t[F_x(x(\tau, \lambda_0), \tau, t, \lambda_0)Z(\tau) + F_\lambda(x(\tau, \lambda_0), \tau, t, \lambda_0)], \quad s \in [a, b]. \quad \square$$

5 Relation to other types of equations

In this section, we show that for impulsive differential equations and for dynamic equations on time scales, differentiability of solutions with respect to initial conditions follows from our Theorem 4.1. (Similarly, it can be shown that differentiability with respect to parameters follows from Theorem 4.4). The reason is that both types of equations can be rewritten as generalized equations, whose right-hand sides do not depend on τ .

Assume that $r > 0$ is a fixed number. We restrict ourselves to the case $B = \{x \in \mathbb{R}^n; \|x\| < r\}$; we use \overline{B} to denote the closure of B .

Lemma 5.1. *Let μ be the Lebesgue-Stieltjes measure generated by a left-continuous nondecreasing function $g : [a, b] \rightarrow \mathbb{R}$ (i.e., $\mu([c, d]) = g(d) - g(c)$ for every interval $[c, d] \subset [a, b]$). Assume that $f : \overline{B} \times [a, b] \rightarrow \mathbb{R}^{m \times n}$ satisfies the following conditions:*

- For every $x \in \overline{B}$, the function $s \mapsto f(x, s)$ is measurable on $[a, b]$ with respect to the measure μ .
- There exists a μ -measurable function $M : [a, b] \rightarrow \mathbb{R}$ such that $\int_a^b M(s) d\mu < +\infty$ and

$$\|f(x, s)\| \leq M(s), \quad x \in \overline{B}, \quad s \in [a, b].$$

- For every $s \in [a, b]$, the function $x \mapsto f(x, s)$ is continuous in \overline{B} .

Consider the function F given by

$$F(x, t) = \int_{[a, t)} f(x, s) d\mu = \int_a^t f(x, s) dg(s), \quad x \in \overline{B}, \quad t \in [a, b].$$

Then the following statements are true:

1. There exists a nondecreasing left-continuous function $h : [a, b] \rightarrow \mathbb{R}$ and a continuous increasing function $\omega : [0, \infty) \rightarrow [0, \infty)$ such that $\omega(0) = 0$ and

$$\|F(x, t) - F(x, s)\| \leq |h(t) - h(s)|, \quad s, t \in [a, b], \quad x \in \overline{B},$$

$$\|F(x, t) - F(x, s) - F(y, t) + F(y, s)\| \leq \omega(\|x - y\|)|h(t) - h(s)|, \quad s, t \in [a, b], \quad x, y \in \overline{B}.$$

2. If $x : [a, b] \rightarrow \overline{B}$, $Z : [a, b] \rightarrow \mathbb{R}^{n \times l}$ are regulated functions, then

$$\int_a^b D_t[F(x(\tau), t)Z(\tau)] = \int_a^b f(x(\tau), \tau)Z(\tau) dg(\tau). \quad (12)$$

Proof. For the first statement, see Proposition 5.9 in [8] and the references given there.

Let us prove the second statement. According to Proposition 5.12 in [8], we have

$$\int_a^b D_t F(x(\tau), t) = \int_a^b f(x(\tau), \tau) dg(\tau) \quad (13)$$

for every regulated function $x : [a, b] \rightarrow B$. Let $[\alpha, \beta] \subseteq [a, b]$ and assume that $Z : [\alpha, \beta] \rightarrow \mathbb{R}^{n \times l}$ is constant on (α, β) . Then, by (13) and Theorem 2.3,

$$\begin{aligned} & \int_\alpha^\beta D_t [F(x(\tau), t)Z(\tau)] \\ &= \lim_{\varepsilon \rightarrow 0^+} \left(\int_{\alpha+\varepsilon}^{\beta-\varepsilon} D_t [F(x(\tau), t)Z(\tau)] + \int_\alpha^{\alpha+\varepsilon} D_t [F(x(\tau), t)Z(\tau)] + \int_{\beta-\varepsilon}^\beta D_t [F(x(\tau), t)Z(\tau)] \right) \\ &= \lim_{\varepsilon \rightarrow 0^+} \left(\int_{\alpha+\varepsilon}^{\beta-\varepsilon} f(x(\tau), \tau)Z(\tau) dg(\tau) \right) + (F(x(\alpha), \alpha+) - F(x(\alpha), \alpha))Z(\alpha) + (F(x(\beta), \beta) - F(x(\beta), \beta-))Z(\beta) \\ &= \lim_{\varepsilon \rightarrow 0^+} \left(\int_{\alpha+\varepsilon}^{\beta-\varepsilon} f(x(\tau), \tau)Z(\tau) dg(\tau) \right) + f(x(\alpha), \alpha)Z(\alpha)(g(\alpha+) - g(\alpha)) + f(x(\beta), \beta)Z(\beta)(g(\beta) - g(\beta-)) \\ &= \int_\alpha^\beta f(x(\tau), \tau)Z(\tau) dg(\tau). \end{aligned}$$

This shows that (12) is satisfied for all step functions $Z : [a, b] \rightarrow \mathbb{R}^{n \times l}$. For a general regulated function Z , let $\{Z_k\}_{k=1}^\infty$ be a sequence of step functions that is uniformly convergent to Z . Then

$$\begin{aligned} \int_a^b D_t [F(x(\tau), t)Z(\tau)] &= \lim_{k \rightarrow \infty} \int_a^b D_t [F(x(\tau), t)Z_k(\tau)] \\ &= \lim_{k \rightarrow \infty} \int_a^b f(x(\tau), \tau)Z_k(\tau) dg(\tau) = \int_a^b f(x(\tau), \tau)Z(\tau) dg(\tau), \end{aligned}$$

where the first equality follows from Lemma 3.3 and the last equality from [8, Corollary 1.32]. \square

Let us start by considering differential equations with impulses. Assume that C is an open neighborhood of \bar{B} , $f : C \times [a, b] \rightarrow \mathbb{R}^n$ is a continuous function whose derivative f_x exists and is continuous on $C \times [a, b]$, and $I^1, \dots, I^k : C \rightarrow \mathbb{R}^n$ are continuously differentiable functions. Then it is known (see [8, Chapter 5]) that the impulsive differential equation

$$\left. \begin{aligned} x'(t) &= f(x(t), t), \quad t \in [a, b] \setminus \{t_1, \dots, t_k\}, \\ x(t_i+) - x(t_i) &= I^i(x(t_i)), \quad i \in \{1, \dots, k\}, \\ x(a) &= x^0(\lambda), \end{aligned} \right\} \quad (14)$$

whose solutions are assumed to be left-continuous, is equivalent to the generalized differential equation

$$\frac{d}{dt}x = D_t F(x, t), \quad t \in [a, b], \quad x(a) = x^0(\lambda),$$

where $F(x, t) = F^1(x, t) + F^2(x, t)$ and

$$F^1(x, t) = \int_a^t f(x, s) ds, \quad F^2(x, t) = \sum_{i=1}^k I^i(x) \chi_{(t_i, \infty)}(t)$$

(the symbol χ_A denotes the characteristic function of a set $A \subset \mathbb{R}$). More precisely, $x : [a, b] \rightarrow \bar{B}$ is a solution of the impulsive equation (14) if and only if it is a solution of the generalized equation (see [8, Theorem 5.20]). Now, F^1 and F^2 are differentiable with respect to x and

$$F_x^1(x, t) = \int_a^t f_x(x, s) ds, \quad F_x^2(x, t) = \sum_{i=1}^k I_x^i(x) \chi_{(t_i, \infty)}(t).$$

By the first part of Lemma 5.1 (where we take $g(s) = s$ and μ is the Lebesgue measure), we obtain the existence of functions $h_1 : [a, b] \rightarrow \mathbb{R}$ and $\omega_1 : [0, \infty) \rightarrow [0, \infty)$ such that

$$\|F_x^1(x, t) - F_x^1(x, s)\| \leq |h_1(t) - h_1(s)|, \quad s, t \in [a, b], \quad x \in \overline{B},$$

$$\|F_x^1(x, t) - F_x^1(x, s) - F_x^1(y, t) + F_x^1(y, s)\| \leq \omega_1(\|x - y\|)|h_1(t) - h_1(s)|, \quad s, t \in [a, b], \quad x, y \in \overline{B}.$$

By continuity, there exists a $K \geq 1$ such that $\|I_x^i(x)\| \leq K$ for all $x \in \overline{B}$, $i \in \{1, \dots, k\}$. Let $h_2(t) = K \sum_{i=1}^k \chi_{(t_i, \infty)}(t)$ for $t \in [a, b]$, and let ω_2 be the common modulus of continuity of the mappings I^1, \dots, I^k on \overline{B} . Then a simple calculation reveals that

$$\|F_x^2(x, t) - F_x^2(x, s)\| \leq |h_2(t) - h_2(s)|, \quad s, t \in [a, b], \quad x \in \overline{B},$$

$$\|F_x^2(x, t) - F_x^2(x, s) - F_x^2(y, t) + F_x^2(y, s)\| \leq \omega_2(\|x - y\|)|h_2(t) - h_2(s)|, \quad s, t \in [a, b], \quad x, y \in \overline{B}.$$

Consequently, the function $F_x = F_x^1 + F_x^2$ satisfies assumptions 3, 4 of Theorem 4.1 with $h = h_1 + h_2$ and $\omega = \omega_1 + \omega_2$. By Remark 4.3, assumption 5 is satisfied with $k = h$. It follows that solutions of the impulsive equation (14) are differentiable with respect to λ , uniformly on $[a, b]$. (Actually, the whole procedure still works under weaker hypotheses on f ; the crucial thing is to ensure that f and f_x satisfy the assumptions of Lemma 5.1.)

To obtain an equation for the derivative $Z(s) = x_\lambda(s, \lambda_0)$, we make use of the fact that

$$F_x(x, t) = \int_a^t \tilde{f}_x(x, s) dg(s), \quad t \in [a, b],$$

where $g(s) = s + \sum_{i=1}^k \chi_{(t_i, \infty)}(s)$, and

$$\tilde{f}_x(x, t) = \begin{cases} f_x(x, t) & \text{if } t \in [a, b] \setminus \{t_1, \dots, t_k\}, \\ I_x^i(x) & \text{if } t = t_i \text{ for some } i \in \{1, \dots, k\} \end{cases}$$

(see e.g. [1, Remark 3.12]). By Theorem 4.1 and the second part of Lemma 5.1,

$$Z(s) = x_\lambda^0(\lambda_0) + \int_a^s D_t[F_x(x(\tau, \lambda_0), t)Z(\tau)] = x_\lambda^0(\lambda_0) + \int_a^s \tilde{f}_x(x(\tau, \lambda_0), \tau)Z(\tau) dg(\tau), \quad s \in [a, b].$$

This integral equation can be rewritten back (see again [1, Remark 3.12]) as the impulsive equation

$$\begin{aligned} Z'(t) &= f_x(x(t, \lambda_0), t)Z(t), \quad t \in [a, b] \setminus \{t_1, \dots, t_k\}, \\ Z(t_i+) - Z(t_i) &= I_x^i(x(t_i, \lambda_0))Z(t_i), \quad i \in \{1, \dots, k\}, \\ x(a) &= x_\lambda^0(\lambda_0), \end{aligned}$$

which agrees with the result from [6].

Next, let us turn our attention to dynamic equations on time scales. Let \mathbb{T} be a time scale, $a, b \in \mathbb{T}$, $a < b$. We use the notation $[a, b]_{\mathbb{T}} = [a, b] \cap \mathbb{T}$. For every $t \in [a, b]$, let

$$t^* = \inf\{s \in [a, b]_{\mathbb{T}}; s \geq t\}.$$

Given an arbitrary function $f : [a, b]_{\mathbb{T}} \rightarrow \mathbb{R}^n$, we define a function $f^* : [a, b] \rightarrow \mathbb{R}^n$ by

$$f^*(t) = f(t^*), \quad t \in [a, b].$$

Similarly, for every function $f : C \times [a, b]_{\mathbb{T}} \rightarrow \mathbb{R}^n$, where $C \subset \mathbb{R}^n$, let $f^* : C \times [a, b] \rightarrow \mathbb{R}^n$ be defined by

$$f^*(x, t) = f(x, t^*), \quad t \in [a, b], \quad x \in C.$$

Assume that C is an open neighborhood of \overline{B} and $f : C \times [a, b]_{\mathbb{T}} \rightarrow \mathbb{R}^n$ satisfies the following conditions:

- For every $t \in [a, b]_{\mathbb{T}}$, the function $x \mapsto f(x, t)$ is continuously differentiable on C .

- For every continuous function $x : [a, b]_{\mathbb{T}} \rightarrow \overline{B}$, the functions $t \mapsto f(x(t), t)$ and $t \mapsto f_x(x(t), t)$ are rd-continuous.
- f_x is bounded in $\overline{B} \times [a, b]_{\mathbb{T}}$.

A consequence of these conditions is that f is bounded in $\overline{B} \times [a, b]_{\mathbb{T}}$ (use the estimate $\|f(x, t)\| \leq \|f(x, t) - f(0, t)\| + \|f(0, t)\|$ and apply the mean-value theorem in the first norm).

Under these assumptions, it is known (see [11, Theorem 12]) that the dynamic equation

$$x^\Delta(t) = f(x(t), t), \quad t \in [a, b]_{\mathbb{T}}, \quad x(a) = x^0(\lambda) \quad (15)$$

is equivalent to the generalized ordinary differential equation

$$\frac{d}{dt}x = D_t F(x, t), \quad t \in [a, b], \quad x(a) = x^0(\lambda), \quad (16)$$

where

$$F(x, t) = \int_a^t f^*(x, s) dg(s),$$

and $g(s) = s^*$ for every $s \in [a, b]$. More precisely, if $x : [a, b]_{\mathbb{T}} \rightarrow \overline{B}$ is a solution of (15), then the function $x^* : [a, b] \rightarrow \overline{B}$ is a solution of (16). Conversely, every solution $y : [a, b] \rightarrow \overline{B}$ of (16) has the form $y = x^*$, where $x : [a, b]_{\mathbb{T}} \rightarrow \overline{B}$ is a solution of (15).

We have

$$F_x(x, t) = \int_a^t f_x^*(x, s) dg(s).$$

By the first part of Lemma 5.1, there exist functions $h : [a, b] \rightarrow \mathbb{R}$ and $\omega : [0, \infty) \rightarrow [0, \infty)$ such that

$$\|F_x(x, t) - F_x(x, s)\| \leq |h(t) - h(s)|, \quad s, t \in [a, b], \quad x \in \overline{B},$$

$$\|F_x(x, t) - F_x(x, s) - F_x(y, t) + F_x(y, s)\| \leq \omega(\|x - y\|)|h(t) - h(s)|, \quad s, t \in [a, b], \quad x, y \in \overline{B}.$$

Thus, F_x satisfies assumptions 3, 4 of Theorem 4.1. By Remark 4.3, assumption 5 is satisfied with $k = h$. This means that solutions of the dynamic equation (15) are differentiable with respect to λ , uniformly on $[a, b]_{\mathbb{T}}$.

Let $Z(s) = x_\lambda(s^*, \lambda_0)$ be the corresponding derivative at λ_0 . By Theorem 4.1 and the second part of Lemma 5.1,

$$Z(s) = x_\lambda^0(\lambda_0) + \int_a^s D_t[F_x(x(\tau^*, \lambda_0), t)Z(\tau)] = x_\lambda^0(\lambda_0) + \int_a^s f_x^*(x(\tau^*, \lambda_0), \tau)Z(\tau) dg(\tau), \quad s \in [a, b].$$

Consequently (see [11, Theorem 5]),

$$Z(s) = x_\lambda^0(\lambda_0) + \int_a^s f_x(x(\tau, \lambda_0), \tau)Z(\tau) \Delta\tau, \quad s \in [a, b]_{\mathbb{T}},$$

and therefore

$$Z^\Delta(t) = f_x(x(t, \lambda_0), t)Z(t), \quad t \in [a, b]_{\mathbb{T}}, \quad Z(a) = x_\lambda^0(\lambda_0),$$

which agrees with the result obtained in [2].

6 Conclusion

Besides impulsive differential equations and dynamic equations on time scales, our differentiability results are also applicable to the so-called measure differential equations of the form

$$x(t) = x(a) + \int_a^t f(x(s), s) ds + \int_a^t g(x(s), s) du(s), \quad t \in [a, b],$$

where u is a left-continuous function with bounded variation. It was shown in [8, Chapter 5] that under certain assumptions, this equation is equivalent to the generalized ordinary differential equation whose right-hand side is

$$F(x, t) = \int_a^t f(x, s) \, ds + \int_a^t g(x, s) \, du(s).$$

As in the previous section, a simple application of Lemma 5.1 shows that under suitable assumptions on f and g , the hypotheses of Theorem 4.1 are satisfied, i.e., solutions of measure differential equations are differentiable with respect to initial conditions.

An interesting open question is whether the results in this paper can be extended to generalized equations whose solutions take values in infinite-dimensional Banach spaces. Numerous authors have already investigated equations of this type (see e.g. [5, 7]). For example, it is known that under certain assumptions, measure functional differential equations are equivalent to generalized ordinary differential equations with vector-valued solutions (see e.g. [1, 10] and the references there). Therefore, differentiability results for the latter type of equations would be directly applicable in the study of functional differential equations.

References

- [1] M. Federson, J. G. Mesquita, A. Slavík, *Measure functional differential equations and functional dynamic equations on time scales*, J. Differential Equations 252 (2012), 3816–3847.
- [2] R. Hilscher, V. Zeidan, and W. Kratz, *Differentiation of Solutions of Dynamic Equations on Time Scales with Respect to Parameters*, Adv. Dyn. Syst. Appl. 4 (2009), no. 1, 35–54.
- [3] W. G. Kelley and A. C. Peterson, *The Theory of Differential Equations (Second Edition)*, Springer, 2010.
- [4] J. Kurzweil, *Generalized ordinary differential equations and continuous dependence on a parameter*, Czechoslovak Math. J. 7 (82), 1957, 418–448.
- [5] J. Kurzweil, *Generalized Ordinary Differential Equations. Not Absolutely Continuous Solutions*, World Scientific, 2012.
- [6] V. Lakshmikantham, D. D. Bainov, P. S. Simeonov, *Theory of Impulsive Differential Equations*, World Scientific, 1989.
- [7] G. Monteiro, M. Tvrdý, *Generalized linear differential equations in a Banach space: Continuous dependence on a parameter*, Discrete Contin. Dyn. Syst. 33 (2013), 283–303.
- [8] Š. Schwabik, *Generalized Ordinary Differential Equations*, World Scientific, 1992.
- [9] Š. Schwabik, M. Tvrdý, and O. Vejvoda, *Differential and Integral Equations: Boundary Value Problems and Adjoints*, Academia, Praha, 1979.
- [10] A. Slavík, *Measure functional differential equations with infinite delay*, Nonlinear Anal. 79 (2013), 140–155.
- [11] A. Slavík, *Dynamic equations on time scales and generalized ordinary differential equations*, J. Math. Anal. Appl. 385 (2012), 534–550.